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Realiza las siguientes multiplicaciones y comprueba el
resultado en la pagina siguiente,
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6
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Y
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Solucionario
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Realiza las siguientes multiplicaciones y comprueba el
resultado en la pagina siguiente,

V152 P 502
X 14 x 25
© 530 7 102
X 82  *25
D603 M 272
X 31 x* 23
© 922 7 621
19 x 43
24))(525 22) 624
29 x 73

5 215
X 13

%652
* 67

9 €53
x 42

" 326
* of

® 296

2 276
<)

303
* 47




Solucionario

D152 P 502 2215 Y6492 % 34
X34 * 25  *43  *43  x 5Y
152 2510 825 2076 2884

1064 1004 275 2768 3605

10392 12550 3515 29156 38934

9530 7302 P 652 9231 202
X 82 * 25 * 64+ *06¢t * 23

1060 3510 4564 1617 606

4240 41404 3942 1386 HOoY

43460 417550 H36384 1547F Hoe4o

D603 M 232 M653 312 #4171
X Xx23 X2 X320 A
603 316 1306 F4Y 417

4221 544 2612 1116 2919

42.843 6.256 2¥426 41904 29607

9922 Y e MI% 613 P 1276

19 *43  x51 21 *Hq)
83298 1863 5082 643 552
922 2484 3630 1226 1104

17518 26303 Y1382 1287%3 11592

24) 525 2) 624 23 2q6 24) 203 25) 703
* 29 x 33 *x 2% x 52  *Yy3
47225 1863 20%2 H06 A406

1050 Y4347 592 1015 728472

15225 45333 1992 10556 29526



